~ AN — | . NI Aeie ~ A 1 - AETEFRIR o =~
AK KR OEEIORERIKRENSEL UTT/KLDI3 10 ok STERT S R | misfIm 2/ 57 R=2

Xz

(BE$EIE]

- REREHT, NRAKMBEERE, (Hok - 5
H) | IR H TREY X7 OEVT
V7| iR TAH L BT, KREY X
J DN U T NIZEB W CRSEEFR]
EOHREERICBIT A %F e -
DR RBFHINT & 72 BIRIKNLE R
4 HDTI,

- REV X T OREER A BEITHER S 1
7HLOTIEHY FHA, BEFWVHOD
I ZEDOKEY 27| 25FF LT
X, TR AR L TWAEBFK~ v
THETIMRLTEI N,

kR 2 -3)
Ay DE BT B L, B
BT AR Zm LTS,

B (G2KAI
4.8 5 1 @ BB (B7KAI)

4.5 5.2 5.6 & S
FU31
3.0mElE5.0m*KE
4.3 54 5.8 5.0mB_E10.0mkH
] 10.0mE

(V) 18 K2 3mASii o K Isk J OV ALK
WAZ DWW TR R L TV E R A,

e b X
1T I Xk

[7—4]

RN, H - B3 AR L TV
i K ARE XA il /K

Hidsk (% A v 2) O

DT —H LY
KEZ R LT ETS

[ Df#EH]

RKTR  POKOmNS LD | iR
FEENKTEDLDND Z b
ZIRKEWVWET, TOERS

(iR 7K L7255t O #iflg D &
IMHKEETOREI) Zi7
KR E DN ET,

RN RAKER EHROE S Z2 2 L7
HOT, KEOES (BEE)
R L TWET,

L
-
OO0 (T
SR ¥ i e RAKAL
(;m)| o000 l AR LNl i)
gl /e l
HgE - B
|HEDSE E=om
% RAKAL = BACE + BosE (T.P.x0)

0 50 100 200 300 400 500
Il I I I

1:2,500 (A1)




